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Time : Three hours Maximum : 75 marks
\ i .
SECTION A — (10 x 2 = 20 marks)
. Answer any, TEN questions.
1.. Give the aims of ﬁhalricé'furllctions. “
Hiuden Lianfsarean Crrasid &(Hs.
2. Define Financial Management. '
;Elg]u_cﬂum) Goeramenio auepyuig.
3. What is Net Income approach?
Hlay d@mnm SIEWUGPED CTGTDTE GTEHET?
4. ' Write down the form»uld for Operating leverage and financial
leverage. i
. Qués GpoyGsmed wppd HHVwE CpwUCsTgIssTar EGSSTD
(PG!S, ' :
5. What are the COlmponents of cost of capital?
sedlar SI_bssHer snpir wirg?
6. What s cost of debt? o i
" sLen LBg,ﬂGoT S5 Qsaay eTamrd aeran? "
7.  Whatdoyou mean by dividend?> - - o L
LRISTSTWID GTemIS6 2 ang) QL6 wing)?.
8. . Define Dividend policy.
LkisTETLE QsTarens Al .
9. Mention any tWo_ advantages of a'deqﬁaté working capital.

« Gurglorar | poLps@EsETar  ges@Ib  @re®H ps&t@ma;émenés
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10.

11.

12.

13.

14.

15.

Write the meaning of gross working capital.
Qurgs el (peD (PSD eTarLgen QUT(HET eT(HSIs.

What do you mean by permanent working capital?

| BIHS L (PN (LPS CTEITLISEN 2_6vTg) QLJIT@dT\U_In’@?

Write a note on property dividend.
Qamggl LrisTSTWD LHO GO eT(PEI5.
SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Explain the scope of financial management.

- BlSudlwe Coarameniouder eraenauienen allamsds.

A firm sells its only product at Rs. 12 per unit. Its variable cost
is Rs. 8 per unit. Present sales are 1,000 units. Calculate the
operating leverage in each of the following situations.

(a) When fixed cost is Rs. 1,000

(b) When fixed cost is Rs. 1,200

(¢©) When fixed cost is Rs. 1,500.

RO Bniwb-QurpL smar (b oG @améEE 5. 12 eisib elhuamen
Oewig au@GEpg. @ gadea LIRUED SLss dswey @G

@amésE . 8. sHCuramsw eflpuemer 1,000 e@@ser. Weraimb,

galeurm GUulmosErse gpu Qubs CpbLGstd oereilmerns
saTEH[DS.

(=) Hloner 268 Qgewa] ep. 1,000

(<) Poe 9ss Qeway @. 1,200

(@) B o &s Qeewey mp.-1,500

A company issues 1000 equity shares of Rs. 100 each at a
premium of 10%. The company has been paying 20% dividend to
share holders for the past five years and expects to maintain the
same in the future also. Compute the cost of equity capital. Will
it make any difference if the market price of equity share is
Rs. 160? ‘
@i Hpwow 1,000 sfsw ukigsd @ 100 efsn 10% paanossed
QaieflulBdEpg). Hpiwsdler LkGSTITEEREES SLbS BbHS e (H&GeTs
SeflgstiL@n urisTsmwbd 20% GCogib aflisrosde QG erea
upmofssiiu@n  ear  ediurissliuGdpg. sfsvunE so
SILsssHmans sansd(s. sNaoutifldar shons LSO ep. 160 2-6rer
Curg gHuBid mngbmrﬁw;emmu.@?srm&wa;. ‘ ‘
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el huemen ellene igTear L& e0dls erdumrLiy :

epeLs Quir L ger — 55%

Cprrig s ga.6dl — 20%

CupOFweysear — 15%

@5y sHoudsET:

Fr&EmLILITS @@éﬁa; @QJGO:UFL;]_UJ Ap@OUIQLITHL&ET — 2 LDTSBISET
Qawerés st —1 rsh |
oAU srref Fr&Smiy ST — 2 TSRIEHT

aumg Senswmeri Bl mHg B Ls sred — 1 wrgL.

7 62444/CPC5A/CPZ5D/
CPG5D/MATS5C



24.

epenm Hmoraisafien eflupriser Geremony oielssiur L (erers.
AL Badll  Cafi
r=15% . r=10% r= 8%
Ke=10% Ke=10% Ke=10%
E=Rs. 10 E=Rs.10 E=Rs. 10

aureL T wrdfilaer LweaLBSE @aideunp Bnwsder LRSTSTL

Qeaveller 694lsb (1) 20% (<=4) 50% (@) 0% (rr) 100% 2 eirer CLimg

gauQeur(m sflgw Lkder wHLAmans: sarsd(Hs.

From the following information, prepare a statement showing
worklng capital by the company

Level of production per month 20 000 units

‘Selling price per unit : Rs. 20

Margin on sales : 10%

Expected ratios of cost to selling price '

Raw materials — 55%

Direct labour — 20%

Overheads — 15%

ther information :

Raw materials required in stock — 2 months
Processing period — 1 month

Finished goods in stock on an average — 2 months

Recovery from customers after one month.

i

‘196tmeu(mLD g,a;meba;mafé; Qaranr® HoosddE CsmariLp

paLpeop e Csrastmer stamds@n oibsmatomer swirr

QEUJ&S
LIS QETm&GNW 2 DS oieme] 20000 SO GEHET
eflpLIaneT af_ﬂcma) DG REMNIEE . 20

efpuener Ssran erdvaney 10%
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16.

17.

18.

19.

The earnings per share of Wick Mayer Ltd. are Rs. 12. The rate
of capitalization is 15% and the rate of return on investment is
9%. Compute the market price per share using Walter’s forrnula
if the dividend payout is 25% and 100%

aflé Gowrr g6 LkE geandlar aumeaumiy 5. 12. @iger YPBOTES
cldlsd 15% Guaib wpga@adr Bsrar Hmiiu ofsin 9% eurdL ieb
@srsdeoas LwauGsd LhistsTu Qeaelear elfsb 25% Wwhmid
100% e eer Guing Lkidler sheng Sl Idmans samsd(s.

X limited issued 50,000. 8% .debenture's of R_s.‘ 10 edch at a
premium of 10%. The Costs of floatation 2%. The rate of tax
applicable to the ‘company i1s 60%. Compute the cost of debt

‘capital.

X afGLL 50,000, 8% sien usHyhisedr ep. 10 eSsapd 10%
(penaiogdled Qmaﬂuﬂ]@ﬁmg Sgen Wgmel 2L ss Cewey 2%
BmwsdbE QunBHss &nigw @Jlﬂ@fﬂéﬂg,m 60% erafled pgadlen &L e
qgu__a;a;g,'é,]mma; saEEl(Hs.

Calculate the debtors turnover ratio -and averages age of debtors
from the followmg data.

Rs.
Cash sales - - 6,00,000
Total sales 12,00,000
Bills receivables (1.1,17) 45,000
Bill receivables (31.12.17) 55,000
Debtors (1.1.17) , 80,000
Debtors (31.12.17) 1,20,000

Assume 360 days in a year. .

Meneumd gselaeT (e sLamalaer spHél e9fsn Lo HMILD eﬂyrrenﬂ
sLamaflsdr deissis srab dueubdameans samrsd (s,

€.

Qprés eSpuen e 6,00,000

Qurss elpuemar 12,00,000
1.1.17 QuusheNu wromEs @ 45,000

31.12.17 dupisH@fw wrHmss @ 55,000

1.1.17 sLarmaflsar 80,000

31.12.17 sL_enraf&ar 1,20,000°

2T (HE 360 Brl_seT eTan Sigomed Qewis.
Explain the dangers of inadequate working capital.
LIDMTEGED L (PenD (edlern 2y LisHaman efleréEs.
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20.

21.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

What are the responsibilities of the financial manager in a
modern business organization?

pefer Asmfled e HHufuicr Guamarflen GuimmiiaeT wing)?
A company’s capital structure consists of Rs. 10,00,000 (shares of

Rs. 100 each) equity capital and Rs. 10,00,000, 10% debentures.
The ‘sales increased by 20% from 1,00,000 units to 1,20,000

" units: the selling price is Rs. 10 per unit: variable cost amount to
Rs. 6 per unit and fixed expenses amount to Rs. 2,00,000.. The

rate of income tax is assumed to be 50%.

You are required to calculate;

(a) The percentage increase in EPS

(b) " The degree of financial leverage at 1,00,000 units and

1,20,000 units.

() The degree of operating leverage at 1,00,000 units and
1,20,000 units. Comment on the risk position of the firm.

@ Pneuarsden wpgalar jawlinde ¢p. 10,00,000 (ungser . 100
aig) sMswuBE Wb wHmb 10% sLeaugdrmisdr . 10,00,000
Qanan® e areng edmuear 1,00,000 slogsadmbs  1,20,000
So@sams 20% 2 wibgldterg. elpumar o WG RATMSE

. 10, rpuGD <iLés Aswas AFTms. 20E GEMIEES @M. 6. Cgib.

Bleved L& Qgaey Qzmena 5. 2,00,000. igiwrafldsiuil L aimoret
auflafldlgd 50%.

AT Caameuwraeupdlaneans semsd (Hs.
‘ S

(=) zwmbgerer EPS sgeldlsib.

(<) HHwe ApbLCare Gaream iearay 1,00,000 S@sear wHOID

1,20,000 gy,@b.

(@) Quss ApbyCard Caran oere| 1,00,000 S@@sdr wHDHID
1,020,000 Si@@Esar.

Bmwsder Qrium’ () Hlaoulamarn &mHSgImrssea,Lb.
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22.

23.

A firm has the following capital structure and after tax costs for
the different sources of funds used.

Sources of funds
Debt
Pre.ference shares

Equity shares

i

Amount Proportion After tax

Rs.)
15,00,00Q i
12,00,(?00
18,00,000

Retained earnings _15,00,000

Total .

60,00,000

(%) (%)
25 5

20 10
30 12
25 11

You are required to compute the weighted average cost of

capital.

@ fipwsder wpgaiear anwii erammn Curgibd aifl ILsa55DEU
G 2-érer LG HE USTIESET LLISTLHSSILLL S UBLOTD.

- B psmisdr
SLam
wengyfantols LI G &56IT

sflgw LBIGseT

séameusslLLL eu@Geumi 15,00,000

Qrgsid

Qzrens '
(m-)
15,00,000
12,00,000

18,00,000

60,00,000

aldlsn  auflEEl Gne

(%) - (%)
25 5
20 10
30 . 12
25 11

aTenL gymedl (pgeliar oiLsssSmen samssl[Hs.

Details regarding three companies are given below.

A Ltd
r=15%

B Ltd

C Ltd

" r=10% r= 8%

Ke=10% Ke=10% Ke=10%

E=Rs.10 E=Rs. 10 E=Rs. 10

By using Walter’s model, you are required to

Calculate the value of an equity share of each of these companies
when, dividend pay out is (a) 20% (b) 50% (c). 0% (d) 100%.

5

62444/CPC5A/CPZ5D/
CPG5D/MATS5C



